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Answer:	
  

Father:	
  One	
  capital,	
  One	
  lower	
  case	
  letter	
  (Aa)	
  

Mother:	
  Two	
  lower	
  case	
  letters	
  (aa)	
  

Genotype:	
  2	
  out	
  of	
  4	
  boxes	
  will	
  be	
  heterozygous	
  (Aa),	
  2	
  out	
  of	
  4	
  will	
  be	
  homozygous	
  recessive	
  (aa)	
  

Phenotype:	
  2	
  of	
  the	
  4	
  children	
  will	
  have	
  black	
  hair,	
  2	
  out	
  of	
  4	
  will	
  have	
  red	
  hair	
  	
  

	
  

	
  

	
  

	
  

	
  

	
  

Now	
  you	
  know	
  how	
  to	
  do	
  a	
  Punnett	
  Square!	
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